* made some validation plot of new 6f samples

- energy and momentum of jets, missing and leptons of new
6f samples are in good agreement with current DBD 6f
samples.

- Number of PFOs are slightly different

* modify my analysis code to optimize event selection cuts.
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jet.energy {jet.energy!=0} hist4

Entries 788184

B Mean 58.44
G = RMS 38.91
E — dbd 6f
0.05 __ new 6f large stat.
- KS Prob.=0.999846
0.04—
0.03—
0.02—
0.01
O_III||||I-_r'-J_I||||||||||||||||||||||||||||||||||||||

0 100 200 300 400 500 600 7700 800 900 1000



hist5
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iIsolepton.energy {isolepton.energy!=0}
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isolepton.px  {isolepton.energy!=0} hist9
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isolepton.pz  {isolepton.energy!=0} hist11
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